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. Consider the following statements on Food Safety and Standards Authority of India FSSAI

1) The Consumer Protection Act consolidated various acts &orders related to food issues to form FSSAL.
2) Itis a statutory body administer by Ministry of Health &Family Welfare.

3) The body sets standards for food products and conduct research on food safety.

4) Petty manufactures and hawkers do not come under FSSAI.

Which of the following are incorrect?

a) 1,2and3

b) 2,3and 4

c) 1,3and4

d 2&4

. Consider the following statements on 'The Criminal Procedure ( Identification ) Act ,2021

1) The CrPI Act repealed the British Era Identification of Prisoners Act, 1920.

2) National Crime Records Bureau is the modal agency to implement the Act.

3) The Act does not allow the collection of Retina and Iris scans as it is against Right to Privacy under
Article 21.

4) The measurement of persons detained under preventive laws can be recorded in the data base.

Options

a) One statement is correct

b) Two statements are correct

c) Three statements are correct

d) Four statements are correct

. Consider the following statements about Hanle Dark Sky Reserve (HDSR)

1) HDSR aims to control man-made light pollution in the area in order to preserve the pristine dark skies
for astronomical research.

2) Itis India’s first dark sky region which is centred at Hanle in Eastern Ladakh, around the Indian
Astronomical Observatory.

Choose the correct statement(s)

a) lonly

b) 2only

c) Bothland?2

d) Neither 1 nor 2




. World Energy Outlook 2023, recently in news is published by which of the following organization?
a) International Renewable Energy Agency

b) International Energy Agency

c) International Atomic Energy Agency

d) Organization of the Petroleum Exporting Countries

. Consider the following initiatives

1) National Judicial Data Grid

2) E Seva Kendra

3) National Service and Tracking of Electronic Processes
4) Virtial Courts

How many are launched under eCourts project?

a) Only one

b) Only two

c) Only three

d) All four

Harami Nala, recently in the news, is located in which of the following states?
a) Rajasthan

b) Chhattisgarh

c) Guijarat

d) Haryana

. Consider the following statement in reference to Environment Impact Assessment (EIA) in India.

1) The first EIA notification was introduced in 1994.

2) EIA is a process under the Environment (Protection) Act, 1986, which prevents industrial and
infrastructural projects from being approved without proper oversight.

3) EIA does not cover nuclear power projects.

How many of the above statements is/are correct?

Select the correct code.

a) Onlyone

b) Only two

c) Allthree

d) None
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Consider the following statements in reference to Gangetic Dolphins in India.

1) They find protection under CITES and CMS (migratory species) Conventions.
2) Females’ dolphins are larger than males.

3) Dolphins do not lay eggs, give birth just like us humans.

How many of the above statements is/are correct?

Select the correct code.

a) Only one

b) Only two

c) Allthree

d) None

Consider the following statements with regards to US Treasury Bond yields

1) Geopolitical events and strong economy are some of the reasons for Increase in US Treasury Bond
Yield.

2) Increase in US Treasury Bond Yield leads to strengthening of the Indians currency.

3) India can resort to OMOs to reduce the pressure on Rupee.

Options

a) One statement is correct

b) Two statements are correct

c) Three statements are correct

d) None of the above are correct

Consider the following statements with regard to the Speaker

1) The Speaker has the authority to refer Bills introduced to the Parliamentary Standing Committees.
2) The speaker resigns from the political party he /she belongs to before taking oath.

3) The decision of Speaker is final on the question of disqualification of MPs in all the cases.

4) The deputy speaker can be from ruling party or opposition party.

Which of the following are incorrect?

a) 1,2&3

b) 1,2&4

c) 2,3&4

d 3&4




